=
HNOS ol oAb g Al A
P022EE £ 25 YBa|N HAAMD
SN BB
u: Yo MEEY
el B BRIYE (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
294D 25,011,133 23,779,001 1,282,132
2 6,380,198 6,360,398 19,800
| 43,342 26,441 6,901
= 2,354,581 2,342,535 2,046
2 16,233,012 15,049,627 1,183,385
W sz 9,025,963 9,051,767 25,804
= 3,888,800 3,909,300 220,500
| 43,342 26,441 6,901
S 831,529 871,743 A40,214
2 4,262,292 4,244,283 18,009
CEREE 5,279,628 5,279,628 0
2 3,006,000 3,026,500 20,500
| 20,500 0 20,500
< 557,620 557,620 0
2 1,695,508 1,695,508 0
SAZQIER JHYIT QMEE XS 33,100 33,100 0
2 0 16,550 216,550
| 16,550 0 16,550
< 6.620 6,620 0
2 9,930 9,930 0
301 PR HI 33,100 33,100 0
2 0 16,550 216,550
| 16,550 0 16,550
< 6.620 6,620 0
2 9,930 9,930 0
FERICERE] 33,100 33,100 0
OBt4AZQIE X2 33,100 33,100 0
2 0 16,550 216,550
| 16,550 0 16,550
= 6,620 6.620 0
2 9,930 9,930 0
HEX BALOER 900 900 0
2 0 450 A450
| 450 0 450
2 450 450 0
R 900 900 0
2 0 450 A450
o] 450 0 450
2 450 450 0
FPIEERE] 900 900 0
OXNSX BAZQUER QIHMEE 900 900 0
= 0 450 A 450
| 450 0 450
2 450 450 0
HIAQRS AYE 24%tA HSAEY(DBARE 7,000 7,000 0
2 0 3,500 3,500
| 3,500 0 3,500
2 3,500 3,500 0




SN BAAND
E: NS MBEY
Sl EYIYE CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
201 Yer2 | 4,000 4,000 0
2 0 2,000 £2,000
o] 2,000 0 2,000
2 2,000 2,000 0
01 AbR 22t 4,000 4,000 0
ONUINTE 2EE U HEASMYBET 4,000 4,000 0
—=MMBAE EEE2 HX S 4,000 4,000 0
2 0 2,000 £2,000
| 2,000 0 2,000
2 2,000 2,000 0
301 YBHFHB 3,000 3,000 0
2 0 1,500 A1,500
o] 1,500 0 1,500
2 1,500 1,500 0
12 JIE 243 3,000 3,000 0
ONUXAE e #Sy| 3,000 3,000 0
2 0 1,500 A1,500
| 1,500 0 1,500
2 1,500 1,500 0
#0523 el 746,811 741,811 5,000
2 122,200 122,200 0
< 172,176 172,176 0
2 452,435 447,435 5,000
HEAL 2l 28,491 23,491 5,000
201 Yer2 | 24,811 19,811 5,000
02 B2l 12,013 7,013 5,000
OFHD2UEHY FX R 5,000 0 5,000
AYE EHOIZ el 2,999,524 3,030,328 £30,804
2 760,600 760,600 0
| 22,842 26,441 ~3,599
= 101,733 141,947 £40,214
2 2,114,349 2,101,340 13,009
HOl2 40 % Hel 360,882 347,672 13,210
201 2Bt | 58,780 45,570 3,210
02 232l 48,678 35,468 13,210
OMEEE 478 LBXY REY
1,387 180U 122 52 14,980 1,984 2,996
OLPHAXIY SBH 1,3872 180U+ 128 52 14,980 1,984 2,996
OMEESE +H8 LYBIY ALEH0I0] DA
378,0002 64 2,268 0 2,268
OLBHAXIZE ALEOO DA
495,000 * 1071 4,950 0 4,950
DS USTY SYHEY 2ol MY T20IAMY 93,366 133,380 £40,014
= 0 40,014 £40,014
= 93,366 93,366 0
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SN BN
M WEE MEEZ
Sol AYE HOIZ 22 (St &)
SN B SR (BH) - NRAY - BAS O & o8 o= o HDE 2
101 Q121 b 93,366 133,380 140,014
= 0 40,014 140,014
2 93,366 93,366 0
04 JIAH22NSE S 93,366 133,380 £40,014
ZE - HSFY SYHEY 2ME 93,366 133,380 £40,014
o123 9,160 *6Al 2H+8% 1602 70,349 98,928 ~28,579
= 0 29,678 129,678
2 70,349 69,250 1,099
—RTREULY 0, 1602 «6Al 24 <8 +6H 42 10,553 17,588 A7,035
< 0 5,276 15,276
2 10,553 12,312 A1,759
—oARtAg 9,160 *6 Al 2t +B% +6 * 12 2,639 4,397 A1,758
< 0 1,320 A1,320
2 2,639 3,077 1438
—4HeE2 9,825 12,467 A2,642
< 0 3,740 £3,740
= 9,825 8,727 1,008
Spme PRS0 XN 25,380 29,380 £ 4,000
b 22,842 26,441 £3,599
= 1,269 1,469 A200
2 1,269 1,470 A 201
301 YU BHZ 25,380 29,380 A 4,000
b 22,842 26,441 £3,599
= 1,269 1,469 A200
2 1,269 1,470 A 201
12 J1EH 243 25,380 29,380 £ 4,000
Os W TS0 X 25,380 29,380 24,000
p 22,842 26,441 A3,599
= 1,269 1,469 A200
2 1,269 1,470 A201
2l 4 22 230,227 280,927 50,700
= 64,787 64,787 0
= 54,730 56,530 A1,800
= 110,710 159,610 48,900
SR 230,227 280,927 £50,700
= 64,787 64,787 0
= 54,730 56,530 £1,800
= 110,710 159,610 48,900
AE Y ZEIAY B2 10,378 55,078 £ 44,700
201 2Bt 2 Ayl 6,898 51,598 £ 44,700
02 222l 594 45,294 144,700
OZ2UH19 BHIA(AAZS) 29 X
A 52 %3001 410021 %22 300 45,000 £44,700
SAE MEwe 200l XA 0 6,000 26,000
< 0 1,800 A 1,800
2 0 4,200 £ 4,200
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X ZH -
L= B

el

ooogx
B

40 o0 rhor

0z 0z 0¥
I i 40

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
201 Yere A | 0 6,000 £6.,000
= 0 1,800 £1,800
2 0 4,200 £4,200
01 Al 22t 0 6,000 6,000
OSAE Mggel 200 X & 0 6,000 16,000
= 0 1,800 A 1,800
2 0 4,200 A 4,200
AelgEes 5,139,146 4,998,646 140,500
=2 1,963,550 1,923,250 40,300
= 1,442,035 1,387,975 54,060
2 1,733,561 1,687,421 46,140
DIMOIX TS 3,562,567 3,422,087 140,500
=2 1,898,550 1,858,250 40,300
= 469,535 415,475 54,060
2 1,194,502 1,148,362 46,140
HOIXS A POH XIR (812 1,700,000 1,630,000 70,000
2 980,000 910,000 70,000
= 216,000 216,000 0
2 504,000 504,000 0
402 212t X201 E 1,700,000 1,630,000 70,000
2 980,000 910,000 70,000
= 216,000 216,000 0
2 504,000 504,000 0
02 BIERHEAML R X (0| H &) 1,700,000 1,630,000 70,000
OFIISSUSH A X
15,000,000 *40(H 600,000 480,000 120,000
= 280,000 210,000 70,000
= 96,000 81,000 15,000
2 224,000 189,000 35,000
OFIISFSHSH A0 X
22,000,000 *50TH 1,100,000 1,150,000 50,000
=2 700,000 700,000 0
= 120,000 135,000 A 15,000
2 280,000 315,000 35,000
SHLRL WHEIA HAAY 1,447,000 1,496,500 49,500
2 847,550 877,250 £29,700
= 179,835 185,775 5,940
2 419,615 433,475 A 13,860
402 212t X201 & 320,500 370,000 £49,500
2 188,300 218,000 £29,700
= 39,660 45,600 5,940
2 92,540 106,400 £ 13,860
02 BIERHEAML R X (0| H &) 320,500 370,000 49,500
O AW DH 16,500,000 *17CH 280,500 330,000 £49,500
2 168,300 198,000 £29,700
= 33,660 39,600 £5,940
2 78,540 92,400 £13,860
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SN BAAND
HE: NBBLRS
Sl DMK HS CERED
SA-3H-S(3AH) - MRAS - BES Ol &F o4 I E M Hns2
MIINSH BHAT2 1E 120,000 0 120,000
= 60,000 0 60,000
2 60,000 0 60,000
401 AIEHIL 2 THHI 120,000 0 120,000
< 60,000 0 60,000
2 60,000 0 60,000
01 Al 120,000 0 120,000
OFINST SHAE 2ZAY
60,000, 000! #2241 120,000 0 120,000
= 60,000 0 60,000
2 60,000 0 60,000
OF M S22t 298,674 287,424 1,250
2 50,061 50,061 0
= 20,287 20,287 0
2 228,306 217,076 11,250
= ESSIL I 298,674 287,424 11,250
= 50,061 50,061 0
= 20,287 20,287 0
[ia 228,326 217,076 11,250
oMsE 25 162,552 51,302 11,250
201 et A H| 23,552 18,552 5,000
01 At 22l bl 20,550 15,550 5,000
OAFMH2 AEY H2ltlS 40,0008 *4000+2] 16,000 11,000 5,000
301 YU B A 125,000 118,750 6,250
12 JIEH2 43 125,000 118,750 6,250
OBEUHK AHFRI(HEY) 28 243
50,0002 %4000+ 2| 20,000 13,750 6,250
HOIZ2 AA4=e Hel 7,427,655 6,993, 189 434,466
2 413,000 413,000 0
2 7,014,655 6,580, 189 434,466
HOl2 ZeHelAL 2ol 7,427,655 6,993, 189 434,466
2 413,000 413,000 0
2 7,014,655 6,580, 189 434,466
HOIE Z8x2AE 22l 5,164,794 5,130,328 34,466
307 £I2+0I & 1,452,949 1,398,921 54,028
05 212t9IEt 3 1,452,949 1,398,921 54,028
OA2AANE 2 HESHBAE DA 1,452,949 1,398,921 54,028
308 XHXI €A S 01 & 124,438 144,000 £19,562
07 A SHARL S 124,438 144,000 A19,562
OHJIZHE 223 124,438 144,000 £19,562
HEZUUKER 800,000 400,000 400,000
2 400,000 400,000 0
2 400,000 0 400,000




SN BPAND
I HOI2 AMme Hel
S HOIE SEH2AL 22l (2@ d)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
401 AIEHI L S THHI 800,000 400,000 400,000
2 400,000 400,000 0
2 400,000 0 400,000
01 Al HI 800,000 400,000 400,000
ORSZULTER I % AANLHSES 540,000 270,000 270,000
2 270,000 270,000 0
2 270,000 0 270,000
ORSZUUKES LAY 260,000 130,000 130,000
2 130,000 130,000 0
2 130,000 0 130,000
WRES(2AAMD) 2,763,371 2,040,951 722,420
L= 2h Xl & 1,982,398 2,040,951 58,553
LH 4 2 1,982,398 2,040,951 58,553
701 B HSRHES 1,982,398 2,040,951 58,553
01 JIEtEI HEES 1,982,398 2,040,951 58,553
ON=ELTZHIAZ 2% ZH2E2 835,395 857,948 £22,553
ONERLNAFAL 29 2H2LS 1,035,904 1,071,904 £36,000
PHN S 780,973 0 780,973
BHXE 780,973 0 780,973
802 BH&t 2 JIE 780,973 0 780,973
NEREEETEE 655.388 0 655.388
O BIEtE MEE SRAY (B ALK, 2019-2
021) 2DEX B3 157,462 0 157,462
O MEAHDSS SXANY ZTDRE 23 600 0 600
O OIMSE DHHEAY RNLE B3 7,600 0 7,600
O 259015 BESHTLAY 2D Biy
2 2,500 0 2,500
O S EIIA WZAY FNBX 23 386,377 0 386,377
O ®IOIEX SIHBSMY ZDBE B3 192 0 192
O ®IIZRI| QABIANY 2D BILI 20,117 0 20,117
O ®IINSKH SIHBSMY ZDBE LS 464 0 464
OMNESHNEAY DX B3 6 0 6
OMZON ZA ¥ HSAY FNEX 23 613 0 613
020218 £2 MHIAPK HAAY BDRE
ESE 30,002 0 30,002
OOE0ISAB2ANNYME XEY DR
S E 70 0 70
0020l JISAS HEHIY 29 202X
ESE 3 0 3
OLY0IE HEEAMNY 222X 8183 930 0 930
OZAU0IE B L HBANY FRRX 283 16,000 0 16,000
O020HE SEHHY +H2H3 FTNLE 8
SE 1,509 0 1,509
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X ZH -
L= B

el

K- B3-S (8) - HRAY - BES 0l &t o 0% o Hl D&
O RoliCMES=2 Tl E&43 MEEXS Bty
= 2,800 0 2,800
O OlMS=2 Lol EAY AIEEXEEF 3,000 0 3,000
O 28X HiEtA HZAY Tl Bted= 88,361 0 88,361
O HII2ED| RAESAY ANEEX B3 6,035 0 6,035
O HIIXNSA QAESAY AIEEX BE= 79 0 79
O Hdete dd@ 8= 1000212 2435t 123 0 123
OAddIli M= ZHEX BtEs 606 0 606
02021 MEHIIS HE HEANE EXAY
CH BExz Bte 1,300 0 1,300
O2021@ MHEE =7t HII=2 HMel XNE ZHE
3 Bty 70 0 70
020218 =281 = Y XA ZHI
2X3 Bty 2,800 0 2,800
020214 THEESE BEMNE XNAMG(BSHS
Fe A2 =R01) TH BEEXRZ ety 370 0 370
02021 =ZEHWHE =H243 THEXZ g
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